
Check even answers for 2.2

Note:  be sure to use arrows for all graphs!!
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Function :    

  D = [-3, 2]  

  R= [-2, 2]

Function :    

  D = [-3, 2]  

  R= [-2] (0, 3]
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2.5 Notes:  Linear Functions

Reminders: rise y
slope   or 

run x

slope also  represents the "rate of change"

y = mx + b         (or  y = ax + b)








Figure 3 from section 2.5 in book
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Examples for 2.5



2.6 Notes:  Transformations of Functions

2f (x) (xa kh)  –

(x – 3)  shift right 3
(x + 3)  shift left 3
Note: move opposite of sign 
given inside parentheses

Vertex of 
parabola
= (h, k)



2.6 Notes:  Transformations of Functions

Example#1:  complete the graph to create an 
a.  even function                    b.  odd function

(reflect across y-axis)

(rotate graph 180 about origin)



2.6 Notes:  Transformations of Functions

Example#1:  complete the graph to create an 
a.  even function                    b.  odd function

(reflect across y-axis)

(rotate graph 180 about origin)



2.6 Notes:  Transformations of Functions

Example#2:  complete the graph to create an 
a.  even function                    b.  odd function



2.6 Notes:  Transformations of Functions

Example#2:  complete the graph to create an 
a.  even function                    b.  odd function


